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OFTIMIZATION) PROBLEMS

— Real World apph cationS { s
— minimize cos+ (maximi2e PO

— paxXmize arec

Steps for solving optimization problem

1. Assign variables and create a sketch of the situation, if possible.

2. Write an equation in terms of two variables.

3. Find values that are reasonable for the situation where the
derivative equals zero. (find where f(x)=0).

4. Verify if the value is a max or min by using the 2nd derivative test.
Remember to check the values found in #3 along with endpoints!
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A rectangular plot of farmland is enclosed by 180m of fencing material on
3 sides. The fourth side is bordered by a stone wall. Find the dimensions
of the plot that encloses the maximum area. Find the max area.
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